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- positionl;

bl P\ector velocityl;
el PVector gravity;
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B void setup(){

-1

s1ze(800,800);

background(255);

positionl = new PVector(l00, 20); //first position
velocityl = new PVector(0.0/10, 0.0/10);

gravity = new PVector(0.0/3, 9.8/10);

oid draw(){
positionl.add(velocityl);
velocityl.add(gravity);

ellipse(positionl.x, positionl.y,10,10);
fi11(255,50,20);

if(positionl.y > 700){

- positionl;
- velocityl;
- gravity;

- position2;
- velocity2;

void setup(){
size(800,800);
background(255) ;
positionl = new PVector(100, 20); //first position
velocityl = new PVector(0.0/10, 0.0/10);
position2 = new PVector(120, 20); //first position
velocity2 = new PVector(100/10, 0.0/10);
gravity = new PVector(0.0/3, 9.8/10);

void draw(){
positionl.add(velocityl);
velocityl.add(gravity);
position2.add(velocity2);
velocity2.add(gravity);
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